+ T (—=24 1)
B SRR L
V= 654.80 X 0.10 065.48  m3 65.5
Sy LA
V= 65. 48 065.48 @ m3 65.5




MO T F "5 & (—R2% 1)

T AT 7 M T

A T SRR R E LY
(M-30, t=100) A=  654.80 = 654.80 m’ 654. 8
AR IE ARG R E LY
(M-30, t=30) A= 2235.96 -  654.8 = 1581.16 m’ 1581. 2
®ET ARG R E LY

(topl3 t=40) A=  2235.96 = 2235.96 m® 2236.0




A I EE:
* J&E + & % i T & % i
Wk | owm o om | B 6| v mom | W | P m B | W | PN m M
(m) (m) (m?) (m) (m) (m?) (m) (m) (m?)
NoO No. 0 0. 00 5. 00 5. 00
20. 00 4.55 91. 00 4.55
Nol No. 0 20. 00 4.10 4.10
20. 00 41,95 99. 00 1,95
No2 No. 1 20. 00 5. 80 5. 80
17. 00 6.68 113.56 6.68 113.56
No2-+17.00 | No2 17. 00 7.55 7.55
3.00 7.53 22. 59 7.53
No3 No2 20. 00 7.50 7.50
20. 00 6. 00 120. 00 6. 00
Nod No3 20. 00 4.50 4.50
16. 60 4. 60 76. 36 4. 60
Nod+16.60 | Nod 16. 60 4.70 4.70
3. 40 41.65 15.81 41.65
No5 Nod 20. 00 4. 60 4. 60
20. 00 4.58 91. 60 4.58
No6 No5 20. 00 4.55 4.55
20. 00 4,03 80. 60 4,03
No7 No6 20. 00 3. 50 3. 50
20. 00 3. 50 70. 00 3. 50 70. 00
No8 No7 20. 00 3. 50 3. 50
20. 00 3. 50 70. 00 3. 50 70. 00
No9 No8 20. 00 3. 50 3. 50
20. 00 3.55 71. 00 3.55
No.10 No9 20. 00 3. 60 3. 60
20. 00 3.65 73. 00 3.65
Noll No.10 20. 00 3.70 3.70
20. 00 4.10 82. 00 4.10
No.12 Noll 20. 00 4.50 4.50
20. 00 4,28 85. 60 4,28
Nol3 No12 20. 00 4.05 4.05
20. 00 4,08 81. 60 4,08
Nol4 Nol3 20. 00 4.10 4.10
20. 00 4.10 82. 00 4.10 82. 00
No.l5 Nol4 20. 00 4.10 4.10
20. 00 3.80 76. 00 3.80
No.16 Nol5 20. 00 3. 50 3. 50
20. 00 3.75 75. 00 3.75
Nol7 No16 20. 00 4. 00 4. 00
20. 00 5.10 102. 00 5. 10
No.18 Nol7 20. 00 6. 20 6. 20
20. 00 4.90 98. 00 4.90
No19 No.18 20. 00 3. 60 3. 60
20. 00 4,05 81. 00 4,05
No.20 No19 20. 00 4.50 4.50
20. 00 4.30 86. 00 4.30 86. 00
No21 No.20 20. 00 4.10 4.10
20. 00 4. 00 80. 00 4. 00 80. 00
No22 No21 20. 00 3.90 3.90
20. 00 3.85 77. 00 3.85
No23 No22 20. 00 3. 80 3. 80
20. 00 4.10 82. 00 4.10 82. 00
No24 No23 20. 00 4. 40 4. 40
20. 00 4.10 82. 00 4.10
No.25 No24 20. 00 3. 80 3. 80
13.70 5. 20 71.24 5. 20 71.24
No25-+13. 70| No25 13.70 6. 60 6. 60
it 513. 70 2, 235. 96 654. 80




B5 1k HF I

(—:40)
[ 1k A T
B LY
BEVE (REWT) B LA L 22.00 22.00  m 22.0
’ i L Y
WEVE (BEWT) B LA L 16. 00 16.00 m 16.0
(7 U — haEA)
a2 ) — ML 16.00 =~ 2.00 +  1.00 9.00 FL 9.0

XA M2y F




\H: é:: /‘.,‘_A
B EY B = T iH R ZE (—#4 )
s EE L T
RS B
(FA77 A R) L= 5,00 + 3510 + 3.70 +  3.70
(t=15cmA ) 7.00 + 8.20 + 4,50 3.10
10.80 + 810 + 550 + 4.20 = 98.90 m 98.
No. 0+No. 0~No. 2+No.2+17. Om+No.4~No. 4+ 16. 6m+No.6~No.7+No.11 +No.15~No.16 4 No.1 7~No.18 +No.19~No.20 +No.2 1 ~No.22 +No.23~No.24
R AEELY
AsEEEL A= 2235.96 = 2235.96 m2 2236.
B 1 AR 2 T
AR
W ORI i L= 22.00 = 22.00  m 22.
y= 018 X 018 X 0.45 X 1.0
a7 U—hEBT e v (0.18X0. 18 X0. 45) = 0.16 | m? 0.
AR
W ORI I L= 16. 00 = 16.00  m 16.
(7 U — FEEHA)
TEHRALER T
FRIEH AsEUEL LV
(AsH) V= 2235.96 X  0.04 = 89.44 m® 89.
ALy AR (AsBR) XV
(AsHf) V= 89. 44 = 89.44 m® 89,
BOEH BhibMHEE: (227 V—MEET v 7) X0
(EFHCoBl) V= 0.16 = 0.16 m? 0.
ALy AR (CoBR) XV
(EFHCoBR) V= 0.16 = 0.16 m® 0.
FEAEFTER  t= 38.000 X 0.0084 = 0.32  t 0.
(BHFEME)
A7 57 t=  38.000 X  0.0084 = 0.32  t 0.
(BHFEM)




B
i

(—:40)
X ER T
IR Ximd v
Ao SR L= 5. 00 5.00 m 5.0
W=15cm
PR 2 & 0
A 7T 1= 2.80 2.80 m 2.8
W=30cm
EEh Xmd v
Mt X5 L= 18. 60 18.60  m 18.6

W=15cm#a &




(—x4v)

AN

G

{3

1.0

42

(e

(e

Il

S

1

=
il
H =
it i
S i
E b
3& E




